



On Classes of Analytic Multivalent Functions Involving by Generalization of Differential Operator with Negative Coefficients

Zainab H. Mahmood^{1,*}, Reem O. Rasheed², Kassim A. Jassim³

¹ Department of Mathematics/ College of Science / University of Baghdad/ Baghdad/Iraq

² Department of Mathematics/ College of Education Tuzkhurmatu / University of Tikrit/ Tikrit /Iraq

³ Department of Mathematics/ College of Science / University of Baghdad/ Baghdad/Iraq

Email address of the corresponding author: kassim.jassim@sc.uobaghdad.edu.iq

Abstract

Let $A(p)$ be the class of analytic and p -valent functions with negative coefficients. Also let $\Gamma^*(p, \lambda, \phi, \delta, \alpha)$ and $\mathbb{K}\Gamma^*(p, \lambda, \phi, \delta, \alpha)$ denote the subclasses of $A(p)$ consisting of p -valent analytic functions with negative coefficients in the open unit disk. The object of the present paper is to prove distortion theorems of functions in the classes $\Gamma^*(p, \lambda, \phi, \delta, \alpha)$ and $\mathbb{K}\Gamma^*(p, \lambda, \phi, \delta, \alpha)$, coefficient estimates, extreme points, closure theorems, and inclusion properties. Also, we obtain radii of convexity, starlikeness and close-to-convexity for functions belonging to those classes. By specializing the parameters involved, the corresponding results for several interesting subclasses of analytic functions can easily be deduced.

Keywords: Multivalent functions, Differential operator, Fractional calculus and Negative Coefficients.

حول اصناف الدوال التحليلية المتعددة التكافؤ المتضمنة المؤثرات التفاضلية المعممة ذات المعاملات السالبة

زينب هادي محمود^{1,*}, ريم عمران رشيد², قاسم عبدالحميد جاسم³

¹ قسم الرياضيات، كلية العلوم، جامعة بغداد، بغداد، العراق

² قسم الرياضيات، كلية تربية طوزخورماتو، جامعة تكريت، تكريت، العراق

³ قسم الرياضيات، كلية العلوم، جامعة بغداد، بغداد، العراق

الخلاصة

نفرض $A(p)$ هو صنف من الدوال التحليلية متعددة التكافؤ ذات المعاملات السالبة. كذلك نفرض $\Gamma^*(p, \lambda, \phi, \delta, \alpha)$ و $\mathbb{K}\Gamma^*(p, \lambda, \phi, \delta, \alpha)$ تشير إلى الاصناف الفرعية لـ $A(p)$ التي تتكون من دوال تحليلية متعددة التكافؤ مع المعاملات السالبة في قرص الوحدة المفتوحة. الهدف من هذا البحث هو إثبات نظريات التشويه للدوال للاصناف $\Gamma^*(p, \lambda, \phi, \delta, \alpha)$ و $\mathbb{K}\Gamma^*(p, \lambda, \phi, \delta, \alpha)$. معامل التقدير، النقاط القصوى، نظريات الإغلاق، وخصائص التضمين. كما حصلنا على نصف قطر التحذب والشبه النجمي والقريب من التحذب للدوال التي تنتمي إلى تلك الاصناف. من خلال تخصيص المعاملات المعنية، يمكن بسهولة استخلاص النتائج المتعلقة بالاصناف الفرعية المثيرة للاهتمام من الدوال التحليلية.



1. Introduction

Let $A(p)$ denoted the class which contains the functions $h(z)$, where

$$h(z) = z^p - \sum_{n=p+j}^{\infty} a_n z^n, \quad a_n \geq 0, p, j \in N = \{1, 2, \dots\}, \tag{1}$$

which are regular and p -valent in the open unit disk $U = \{z: |z| < 1\}$. A function $h(z) \in A(p)$ is said to be p -valently starlike of order α if it satisfies the inequality

$$Re \left\{ \frac{zh'(z)}{h(z)} \right\} > \alpha, (z \in U; 0 \leq \alpha < p; p \in N).$$

We denote by $S^*(p, \alpha)$ the class of all p -valently starlike functions of order α

Also, a function $h(z) \in A(p)$ is said to be p -valently convex of order α if it satisfies the inequality

$$Re \left\{ 1 + \frac{zh''(z)}{h'(z)} \right\} > \alpha, (z \in U; 0 \leq \alpha < p; p \in N).$$

We denote by $C(p, \alpha)$ the class of all p -valently convex functions of order α .

The classes $S^*(p, \alpha)$ and $C(p, \alpha)$ are studied by Owa [9] .

For each $h(z) \in A(p)$, we have

$$h^q(z) = \frac{p!}{(p-q)!} z^{p-q} - \sum_{n=p+j}^{\infty} \frac{n!}{(n-q)!} a_n z^{n-q}, (q \in N_0 = N \cup \{0\}; p > q)$$

In [1] , Aouf Define the following for each $h(z) \in A(p)$,

$$D_p^r h^q(z) = \frac{p!}{(p-q)!} z^{p-q} - \sum_{n=p+j}^{\infty} \frac{n!}{(n-q)!} \left(\frac{n-q}{p-q} \right)^r a_n z^{n-q}, (p, j \in N; q \in N_0 = N \cup \{0\}; p > q).$$

We note that, when $q=0$ and $p=1$, the differential operator $D_1^r = D^r$ is introduced by Salagean [11].

Now, we introduce the following definition

Definition 1 : A function $h(z) \in \Gamma(p, \lambda, \phi, \delta, \alpha)$ if and only if

$$\left| \frac{\delta z \left(D_p^r h^{q+1}(z) \right) + \lambda z^2 \left(D_p^r h^{q+2}(z) \right)}{(1-\lambda) \left(D_p^r h^q(z) \right) + z \left(D_p^r h^{q+1}(z) \right)} - (\delta - \phi) \right| < \alpha$$

$z \in E, q \in NU\{0\}, 0 < \alpha \leq 1, \phi \in \mathbb{R}, \phi < 1, p > q, \gamma, \delta \leq 1, 0 \leq \lambda \leq 1.$

In addition a function $h(z) \in \mathbb{K}\Gamma(p, \lambda, \phi, \delta, \alpha)$ if and $zh'(z) \in \Gamma(p, \lambda, \phi, \delta, \alpha)$.



$T(p)$ is the subclass of $A_1(p)$ that contains functions of the form

$$h(z) = z^p - \sum_{n=p+j}^{\infty} a_n z^n, a_n \geq 0. \quad (2)$$

The classes $\Gamma^*(p, \lambda, \phi, \delta, \alpha)$ and $\mathbb{K}\Gamma^*(p, \lambda, \phi, \delta, \alpha)$ intersect with $T(p)$.

$D_z^q h(z)$ is the q^{th} order differential operator for $h(w) \in A_1(p)$ defined in (1)

$$D_p^r h^q(z) = \frac{p!}{(p-q)!} z^{p-q} - \sum_{n=p+j}^{\infty} \frac{n!}{(n-q)!} \left(\frac{n-q}{p-q}\right)^r a_n z^{n-q}, \quad p > q.$$

Many authors were studied analytic classes such as [2,3,4,5,6,7,8,10] and get many results for various classes.

Theorem 1 : Let $h(z)$ be in $\Gamma^*(p, \lambda, \phi, \delta, \alpha)$ if and only if

$$\sum_{n=p+1}^{\infty} \frac{1}{\Sigma(n)} a_n \leq 1, \quad (3)$$

where

$$\Sigma(n) = \frac{\frac{p!}{(p-q)!} [\alpha(1-\lambda + p-q) - \lambda(p-q)(p-q-1) - \phi(p-q) + (\delta-\phi)(1-\lambda)]}{\frac{n!}{(n-q)!} \left(\frac{n-q}{p-q}\right)^r [\lambda(n-q)(n-q-1) + \phi(n-q) - (\delta-\phi)(1-\lambda) + \alpha(1-\lambda + n-q)]}$$

Proof: Let $h(z) \in \Gamma^*(p, \lambda, \phi, \delta, \alpha)$. Thus

$$\left| \frac{\delta z (D_p^r h^{q+1}(z)) + \lambda z^2 (D_p^r h^{q+2}(z))}{(1-\lambda)(D_p^r h^q(z)) + z(D_p^r h^{q+1}(z))} - (\delta - \phi) \right| < \alpha. \quad (4)$$

Consider

$$\begin{aligned} & \delta z (D_p^r h^{q+1}(z)) + \lambda z^2 (D_p^r h^{q+2}(z)) - (\delta - \phi) [(1-\lambda)(D_p^r h^q(z)) + z(D_p^r h^{q+1}(z))] \\ &= \frac{p!}{(p-q)!} [\lambda(p-q)(p-q-1) + \phi(p-q) - (\delta-\phi)(1-\lambda)] z^{p-q} \\ & \quad - \sum_{n=p+j}^{\infty} \frac{n!}{(n-q)!} \left(\frac{n-q}{p-q}\right)^r [\lambda(n-q)(n-q-1) + \phi(n-q) - (\delta-\phi)(1-\lambda)] a_n z^{n-q} \end{aligned}$$

Consider now

$$\begin{aligned} & (1-\lambda)(D_p^r h^q(z)) + z(D_p^r h^{q+1}(z)) \\ &= \frac{p!}{(p-q)!} [1-\lambda + p-q] z^{p-q} - \sum_{n=p+1}^{\infty} \frac{n!}{(n-q)!} \left(\frac{n-q}{p-q}\right)^r [1-\lambda + n-q] a_n z^{n-q} \end{aligned}$$

From (3)



$$\left| \frac{\frac{p!}{(p-q)!} [\lambda (p-q)(p-q-1) + \phi (p-q) - (\delta - \phi)(1 - \lambda)] z^{p-q} - \sum_{n=p+1}^{\infty} \frac{n!}{(n-q)!} \left(\frac{n-q}{p-q}\right)^r [\lambda (n-q)(n-q-1) + \phi (n-q) - (\delta - \phi)(1 - \lambda)] a_n z^{n-q}}{\frac{p!}{(p-q)!} [1 - \lambda + p - q] z^{p-q} - \sum_{n=p+1}^{\infty} \frac{n!}{(n-q)!} \left(\frac{n-q}{p-q}\right)^r [1 - \lambda + n - q] a_n z^{n-q}} \right| \leq \alpha. \quad (5)$$

Since $|\operatorname{Re}(z)| \leq |z|$, we can choose values on the real axis. In (5) Allowing $z \rightarrow 1^-$ through real axis, it follows that

$$\begin{aligned} & \frac{p!}{(p-q)!} [\lambda (p-q)(p-q-1) + \phi (p-q) - (\delta - \phi)(1 - \lambda)] + \\ & \sum_{n=p+j}^{\infty} \frac{n!}{(n-q)!} \left(\frac{n-q}{p-q}\right)^r [\lambda (n-q)(n-q-1) + \phi (n-q) - (\delta - \phi)(1 - \lambda)] a_n \\ & \leq \alpha \left[\frac{p!}{(p-q)!} [1 - \lambda + p - q] z^{p-q} - \sum_{n=p+j}^{\infty} \frac{n!}{(n-q)!} \left(\frac{n-q}{p-q}\right)^r [1 - \lambda + n - q] a_n \right]. \end{aligned}$$

Therefore

$$\begin{aligned} & \sum_{n=p+j}^{\infty} \frac{n!}{(n-q)!} \left(\frac{n-q}{p-q}\right)^r [\lambda (n-q)(n-q-1) + \phi (n-q) - (\delta - \phi)(1 - \lambda) \\ & \quad + \alpha(1 - \lambda + n - q)] a_n \\ & \leq \frac{p!}{(p-q)!} [\alpha(1 - \lambda + p - q) - \lambda (p-q)(p-q-1) - \phi (p-q) \\ & \quad + (\delta - \phi)(1 - \lambda)]. \end{aligned}$$

Define

$$\Xi(n) = \frac{\frac{p!}{(p-q)!} [\alpha(1 - \lambda + p - q) - \lambda (p-q)(p-q-1) - \phi (p-q) + (\delta - \phi)(1 - \lambda)]}{n!} \frac{1}{(n-q)! \left(\frac{n-q}{p-q}\right)^r [\lambda (n-q)(n-q-1) + \phi (n-q) - (\delta - \phi)(1 - \lambda) + \alpha(1 - \lambda + n - q)]}$$

We get

$$\sum_{n=p+j}^{\infty} \frac{1}{\Xi(n)} a_n \leq 1.$$

Now, Suppose that (3) is true. We have

$$\begin{aligned} & \left| \delta z \left(D_p^r h^{q+1}(z) \right) + \lambda z^2 \left(D_p^r h^{q+2}(z) \right) - (\delta - \phi)(1 - \lambda) \left(D_p^r h^q(z) \right) \right. \\ & \quad \left. + z \left(\mathfrak{D}_z^{q+1}(\Omega_p(r, p)h(z)) \right) \right| - \alpha \left| (1 - \lambda) \left(D_p^r h^q(z) \right) + z \left(D_p^r h^{q+1}(z) \right) \right| \end{aligned}$$



$$= \sum_{n=p+j}^{\infty} \frac{n!}{(n-q)!} \left(\frac{n-q}{p-q}\right)^r [\lambda(n-q)(n-q-1) + \phi(n-q) - (\delta - \phi)(1-\lambda) + \alpha(1-\lambda+n-q)] a_n - \frac{p!}{(p-q)!} [\alpha(1-\lambda+p-q) - \lambda(p-q)(p-q-1) - \phi(p-q) + (\delta - \phi)(1-\lambda)] \leq 0.$$

By using maximum modulus principle and (3), $h(z) \in \Gamma^*(p, \lambda, \phi, \delta, \alpha)$.

Corollary 1: If $h(z) \in \Gamma^*(p, \lambda, \phi, \delta, \alpha)$, then

$$a_n \leq \mathfrak{E}(n)$$

For $n = p + 1, p + 2, \dots$

Theorem 2 : Suppose that $h(z) \in \mathbb{K}\Gamma^*(p, \lambda, \phi, \delta, \alpha)$ if and only if $\sum_{n=p+1}^{\infty} \frac{n}{\mathfrak{E}(n)} a_n \leq p$

Proof : Let $h(z) \in \mathbb{K}\Gamma^*(p, \lambda, \phi, \delta, \alpha)$ therefore $zf'(z) \in \mathbb{K}\Gamma^*(p, \lambda, \phi, \delta, \alpha)$

Substitute $h(z) = zh'(z)$

$$h(z) = pz^p - \sum_{n=p+j}^{\infty} na_n z^n$$

Thus

$$\left| \frac{\delta z(D_p^r h^{q+1}(z)) + \lambda z^2(D_p^r h^{q+2}(z))}{(1-\lambda)(D_p^r h^q(z)) + z(D_p^r h^{q+1}(z))} - (\delta - \phi) \right| < \alpha \quad (6)$$

Consider

$$\begin{aligned} & \delta z(D_p^r h^{q+1}(z)) + \lambda z^2(D_p^r h^{q+2}(z)) - (\delta - \phi) [(1-\lambda)(D_p^r h^q(z)) + z(D_p^r h^{q+1}(z))] \\ &= \frac{p!p}{(p-q)!} [\lambda(p-q)(p-q-1) + \phi(p-q) - (\delta - \phi)(1-\lambda)] z^{p-q} \\ & \quad - \sum_{n=p+j}^{\infty} \frac{n!n}{(k-q)!} \left(\frac{n-q}{p-q}\right)^r [\lambda(n-q)(n-q-1) + \phi(n-q) - (\delta - \phi)(1-\lambda)] a_n z^{n-q} \end{aligned}$$

Now, consider

$$\begin{aligned} & (1-\lambda)(D_p^r h^q(z)) + z(D_p^r h^{q+1}(z)) \\ &= \frac{p!p}{(p-q)!} [1-\lambda+p-q] z^{p-q} - \sum_{n=p+j}^{\infty} \frac{n!n}{(k-q)!} \left(\frac{n-q}{p-q}\right)^r [1-\lambda+n-q] a_n z^{n-q}. \end{aligned}$$

From (6), we have



$$\left| \frac{\frac{p! p}{(p-q)!} [\lambda (p-q)(p-q-1) + \phi (p-q) - (\delta - \phi)(1 - \lambda)] z^{p-q} - \sum_{n=p+j}^{\infty} \frac{n! n}{(k-q)!} \left(\frac{n-q}{p-q}\right)^r [\lambda (n-q)(n-q-1) + \phi (n-q) - (\delta - \phi)(1 - \lambda)] a_n z^{n-q}}{\frac{p! p}{(p-q)!} [1 - \lambda + p - q] z^{p-q} - \sum_{n=p+j}^{\infty} \frac{n! n}{(n-q)!} \left(\frac{n-q}{p-q}\right)^r [1 - \lambda + n - q] a_n z^{n-q}} \right| \leq \alpha. \tag{7}$$

Given that $|\operatorname{Re}(z)| \leq |z|$ and that $z \rightarrow 1^-$ passes through the real axis, we obtain

$$\begin{aligned} & \sum_{n=p+j}^{\infty} \frac{n! n}{(n-q)!} \left(\frac{n-q}{p-q}\right)^r [\lambda (n-q)(n-q-1) + \phi (n-q) - (\delta - \phi)(1 - \lambda) \\ & \quad + \alpha(1 - \lambda + n - q)] a_n \\ & \leq \frac{p! p}{(p-q)!} [\alpha(1 - \lambda + p - q) - \lambda (p-q)(p-q-1) - \phi (p-q) + (\delta - \phi)(1 - \lambda)] \end{aligned}$$

Therefore, we get $\sum_{n=p+j}^{\infty} \frac{n}{\xi(n)} a_n \leq p$.

Corollary 2: If $h(z) \in \mathbb{K}\Gamma^*(p, \lambda, \phi, \delta, \alpha)$, then $a_n \leq \frac{p}{n} \xi(n)$, for $n = p + 1, p + 2, \dots$.

Theorem 3: If $h(z) \in \Gamma^*(p, \lambda, \phi, \delta, \alpha)$, then

$$|z|^p - \xi(p+1)|z|^{1+p} \leq |h(z)| \leq |z|^p + \xi(p+1)|z|^{1+p}.$$

Proof: $h(z) \in \Gamma^*(p, \lambda, \phi, \delta, \alpha)$ if and only if $\sum_{n=p+j}^{\infty} \frac{1}{\xi(n)} a_n \leq 1$

$$|h(z)| \leq |z|^p + \left| \sum_{n=p+j}^{\infty} a_n z^n \right| \leq |z|^p + \xi(p+1)|z|^{1+p}. \tag{8}$$

Similarly

$$|h(z)| \geq |z|^p - \left| \sum_{n=p+j}^{\infty} a_n z^n \right| \geq |z|^p - \xi(p+1)|z|^{1+p}. \tag{9}$$

From (8) and (9), we have

$$|z|^p - \xi(p+1)|z|^{1+p} \leq |h(z)| \leq |z|^p + \xi(p+1)|z|^{1+p}.$$

Theorem 4: If $h(z) \in \mathbb{K}\Gamma^*(p, \lambda, \phi, \delta, \alpha)$, then

$$\left| |z|^p - \left(\frac{p}{p+1}\right) \xi(p+1) \right| |z|^{1+p} \leq |h(z)| \leq \left| |z|^p + \left(\frac{p}{p+1}\right) \xi(p+1) \right| |z|^{1+p}.$$

Proof: Suppose that $h(z) \in \Gamma^*(p, \lambda, \phi, \delta, \alpha)$ if and only if $\sum_{n=p+1}^{\infty} \frac{n}{\xi(n)} a_n \leq p$.

$$\begin{aligned} |h(z)| & \leq |z|^p + \left| \sum_{n=p+j}^{\infty} a_n z^n \right| \\ & \leq \left| |z|^p + \left(\frac{p}{p+1}\right) \xi(p+1) \right| |z|^{1+p}. \end{aligned} \tag{10}$$



Similarly

$$|h(z)| \geq |z^p| - \left| \sum_{n=p+j}^{\infty} a_n z^n \right| \geq \left| z^p - \left(\frac{p}{p+1} \right) \Sigma(p+1) \right| |z|^{1+p}. \quad (11)$$

From (10) and (11) we have

$$\left| z^p - \left(\frac{p}{p+1} \right) \Sigma(p+1) \right| |z|^{1+p} \leq |h(z)| \leq \left| z^p + \left(\frac{p}{p+1} \right) \Sigma(p+1) \right| |z|^{1+p}.$$

Theorem 5 : If $h(z) \in \Gamma^*(p, \lambda, \phi, \delta, \alpha)$, then

$$p|z|^{p-1} + (p+1) \Sigma(p+1)|z|^p \leq |h'(z)| \leq p|z|^{p-1} + (p+1) \Sigma(p+1)|z|^p$$

Proof : Let $h(z) \in \Gamma^*(p, \lambda, \phi, \delta, \alpha)$. Therefore $\sum_{n=p+j}^{\infty} \frac{1}{\Sigma(n)} a_n \leq 1$.

$$h'(z) = pz^{p-1} - \sum_{n=p+1}^{\infty} na_n z^{n-1}$$

$$|h'(z)| \leq |pz^{p-1}| + \left| \sum_{n=p+j}^{\infty} na_n z^{n-1} \right|$$

$$|h'(z)| \leq p|z|^{p-1} + (p+1)\Sigma(p+1)|z|^p. \quad (12)$$

Similarly

$$|h'(z)| \geq p|z|^{p-1} - (p+1)\Sigma(p+1)|z|^p. \quad (13)$$

From (12) and (13), we have

$$p|z|^{p-1} + (p+1) \Sigma(p+1)|z|^p \leq |h'(z)| \leq p|z|^{p-1} + (p+1) \Sigma(p+1)|z|^p.$$

Theorem 6 : If $h(z) \in \mathbb{K}\Gamma^*(p, \lambda, \phi, \delta, \alpha)$, then

$$p \left| z^{p-1} - \left(\frac{p}{p+1} \right) \Sigma(p+1) \right| |z|^p \leq |h'(z)| \leq p \left| z^{p-1} + \left(\frac{p}{p+1} \right) \Sigma(p+1) \right| |z|^p$$

Proof : $h(z) \in \mathbb{K}\Gamma^*(p, \lambda, \phi, \delta, \alpha)$. Therefore $\sum_{n=p+j}^{\infty} \frac{n}{\Sigma(n)} a_n \leq p$.

$$h'(z) = pz^{p-1} - \sum_{n=p+j}^{\infty} na_n z^{n-1}$$

$$|h'(z)| \leq |pz^{p-1}| + \left| \sum_{n=p+j}^{\infty} na_n z^{n-1} \right|$$

$$|h'(z)| \leq p|z|^{p-1} + \left(\frac{p}{p+1} \right) \Sigma(p+1)|z|^p. \quad (13)$$

Similarly

$$|h'(z)| \geq p \left| z^{p-1} - \left(\frac{p}{p+1} \right) \Sigma(p+1) \right| |z|^p. \quad (14)$$



From (13) and (14) , we have

$$\mathfrak{p} \left| z \right|^{\mathfrak{p}-1} - \left(\frac{\mathfrak{p}}{\mathfrak{p} + 1} \right) \mathfrak{E}(\mathfrak{p} + 1) \left| z \right|^{\mathfrak{p}} \leq |h'(z)| \leq \mathfrak{p} \left| z \right|^{\mathfrak{p}-1} + \left(\frac{\mathfrak{p}}{\mathfrak{p} + 1} \right) \mathfrak{E}(\mathfrak{p} + 1) \left| z \right|^{\mathfrak{p}}$$

Theorem 7: If $h(z) \in \Gamma^*(\mathfrak{p}, \lambda, \phi, \delta, \alpha)$ then $h(z) \in \mathcal{K}(\xi)$ in $|z| < R_1$, where

$$R_1 = \int_{n \geq 1 + \mathfrak{p}}^{\text{inf}} \left\{ \left(\frac{(\mathfrak{p} - \xi)}{n \mathfrak{E}(n)} \right)^{\frac{1}{n+1-\mathfrak{p}}} \right\}.$$

Proof: It is sufficient to show that $\left| \frac{h'(z)}{z^{\mathfrak{p}-1}} - \mathfrak{p} \right| \leq \mathfrak{p} - \xi$ for $|z| < R_1$.

We have

$$\left| \frac{h'(z)}{z^{\mathfrak{p}-1}} - \mathfrak{p} \right| = \left| - \sum_{n=\mathfrak{p}+j}^{\infty} n a_n z^{n-\mathfrak{p}+1} \right| \leq \sum_{n=\mathfrak{p}+j}^{\infty} n |a_n| |z|^{n-\mathfrak{p}+1}.$$

Thus

$$\sum_{n=\mathfrak{p}+j}^{\infty} \frac{n}{(\mathfrak{p}-\xi)} |a_n| |z|^{n-\mathfrak{p}+1} \leq 1. \tag{15}$$

By Theorem 1

$$\sum_{n=\mathfrak{p}+j}^{\infty} \frac{1}{\mathfrak{E}(n)} |a_n| \leq 1. \tag{16}$$

Hence (15) will be true if $\frac{n}{(\mathfrak{p}-\xi)} |z|^{n-\mathfrak{p}+1} \leq \frac{1}{\mathfrak{E}(n)}$

We obtain $|z| \leq \left\{ \frac{(\mathfrak{p}-\xi)}{n \mathfrak{E}(n)} \right\}^{\frac{1}{n+1-\mathfrak{p}}}$.

Theorem 8 : If $h(z) \in \Gamma^*(\mathfrak{p}, \lambda, \phi, \delta, \alpha)$ then $h(z) \in \mathcal{S}^*(\xi)$ in $|z| < R_2$, where

$$R_2 = \int_{n \geq 1 + \mathfrak{p}}^{\text{inf}} \left\{ \left(\left(\frac{(\mathfrak{p} - \xi)}{n - \xi} \right) \frac{1}{\mathfrak{E}(n)} \right)^{\frac{1}{n-\mathfrak{p}}} \right\}.$$

Proof : We need to show that $\left| \frac{zh'(z)}{h(z)} - \mathfrak{p} \right| \leq \mathfrak{p} - \xi$

We have

$$\left| \frac{zh'(z)}{h(z)} - \mathfrak{p} \right| \leq \frac{\sum_{n=\mathfrak{p}+j}^{\infty} (n-\mathfrak{p}) |a_n| |z|^{n-\mathfrak{p}}}{1 - \sum_{n=\mathfrak{p}+j}^{\infty} |a_n| |z|^{n-\mathfrak{p}}} \leq \mathfrak{p} - \xi. \tag{17}$$

Hence (17) holds true if

$$\sum_{n=\mathfrak{p}+j}^{\infty} \frac{(n-\xi)}{(\mathfrak{p}-\xi)} |a_n| |z|^{n-\mathfrak{p}} \leq 1, \tag{18}$$



By Theorem 1

$$\sum_{n=p+j}^{\infty} \frac{1}{\xi(n)} |a_n| \leq 1. \quad (19)$$

by (18) and (19) will be true if

$$\begin{aligned} \frac{(n-\xi)}{(p-\xi)} |z|^{n-p} &\leq \frac{1}{\xi(n)} \\ |z|^{n-p} &\leq \left(\frac{p-\xi}{n-\xi}\right) \frac{1}{\xi(n)} \end{aligned}$$

THEOREM 9 : If $h(z) \in \Gamma^*(p, \lambda, \phi, \delta, \alpha)$, then $h(z) \in C(\xi)$ in $|z| < R_3$, where

$$R_3 = \inf_{n \geq 1+p} \left\{ \left\{ \left(\frac{p(p-\xi)}{n(n-\xi)} \right) \frac{1}{\xi(n)} \right\}^{\frac{1}{n-p}} \right\}$$

Proof : We know that $h(z)$ is convex if and only if $h'(w)$ is starlike. We must show that

$$\left| \frac{zh'(z)}{h(z)} - p \right| \leq p - \xi,$$

where $h(z) = zh'(z)$

$$\left| \frac{zh'(z)}{h(z)} - p \right| = \left| \frac{-\sum_{n=p+1}^{\infty} n(n-p)a_n z^n}{pz^p - \sum_{n=p+1}^{\infty} na_n z^n} \right| \leq \frac{\sum_{n=p+j}^{\infty} n(n-p)|a_n||z|^{n-p}}{p - \sum_{n=p+j}^{\infty} n|a_n||z|^{n-p}} \leq p - \xi.$$

Therefore, we have

$$\sum_{n=p+j}^{\infty} \frac{n(n-\xi)}{p(p-\xi)} |a_n||z|^{n-p} \leq 1. \quad (20)$$

By Theorem 1

$$\sum_{n=p+j}^{\infty} \frac{1}{\xi(n)} |a_n| \leq 1. \quad (21)$$

From (20) and (21), will be true if $\frac{n(n-\xi)}{p(p-\xi)} |z|^{n-p} \leq \frac{1}{\xi(n)}$

$$|z| \leq \left\{ \left(\frac{p(p-\xi)}{n(n-\xi)} \right) \frac{1}{\xi(n)} \right\}^{\frac{1}{n-p}}.$$

Theorem 10: Let $h_1(z) = z^p$ and $h_n(z) = z^p - \xi(n)z^n$ for $n \geq 1 + p$. Then $h(z) \in \Gamma^*(p, \lambda, \phi, \delta, \alpha)$ if and only if $h(z) = \lambda_1 h_1(z) + \sum_{n=p+j}^{\infty} \lambda_n h_n(z)$, where $\lambda_n \geq 0$ and $\lambda_1 + \sum_{n=p+j}^{\infty} \lambda_n = 1$.



2. Conclusion

The class of analytic and p -valent functions with negative coefficients in the open unit disk is introduced. Also, the important geometric properties are presented like distortion theorems, extreme points, closure theorems, and inclusion properties. Also, we obtain radii of convexity, starlikeness and close-to-convexity for functions belonging to class.

References

- [1] A. M. Kadim and W. R. Saleh, "Morphological and Optical Properties of CdS Quantum Dots Synthesized with Different pH values," *Iraqi Journal of Science*, vol. 58, no. 3A, pp. 1207-1213, 2017.
- [2] Q. Zhang and H. Li, "MOEA/D: A Multiobjective Evolutionary Algorithm based on Decomposition," *IEEE Transactions on Evolutionary Computation*, vol. 11, no. 6, pp. 712-731, 2007.
- [3] S. Romano, J. Baily, V. Nguyen and K. Verspoor, "Standardized Mutual Information for Clustering Comparisons: One Step Further in Adjustment for Chance," in *Proceedings of the 31st International Conference on Machine Learning*, Beijing, 2014.
- [4] J. Brownlee, *Clever Algorithms: Nature-Inspired Programming Recipes*, Australia: LuLu Enterprice, 2011, p. 436.
- [5] H. O. A. (. Procedures), "Code of Practice for the Housing and Care of Animals Used in Scientific Procedures.," Act 1986.
- [6] C. o. P. E. (COPE), "Code of Conduct and Best-Practice Guidelines for Journal Editors," 2011.
- [9] S. Owa, The quasi-Hadamard products of certain analytic functions, in: H.M. Srivastava, S. Owa (Eds.), *Current Topics in Analytic Function Theory*, World Scientific Publishing Company, Singapore, New Jersey, London, Hong Kong, 1992, pp. 234–251.
- [10] M.-P. Chen, H. Irmak, H.M. Srivastava, Some families of multivalently analytic functions with negative coefficients, *J. Math. Anal. Appl.* 214 (1997) 674–690.
- [11] G.S. Salagean, Subclasses of univalent functions, in: *Lecture Notes in Math.*, vol. 1013, Springer-Verlag, 1983, pp. 362–372.